ARMY BURN HALL COLLEGE FOR BOYS
Entry Test Model Paper — Class Three

SUBJECT: ENGLISH

Time: 30 Minutes Maximum Marks: 20

ATTEMPT ALL QUESTIONS

Q.1 Choose the correct option. [2.5]
i. She is intelligent girl.
A. a B. an C. the
. The girl ran across the large playground. (Underline the verb)
A. large B. ran C. across
iil. | bought a beautiful dress at the mall. The underlined word is:
A. Preposition B. Adjective C. Noun
iv. We are going to walk in the park play football.
A. because B. but C. or
V. The past tense of ‘put’ is:
A. putted B. put C. puted
Q.2 Encircle the correct spellings. [1.5]
a. poeple people peopel
b. rupteur ruptour rupture
C. environment envirionment envorionment
Q.3 Write down the plurals of the following nouns. [3]
a leaf b. mouse C. reply
Q.4 Write down antonyms of the following words. [3]
a shallow b. encourage C. float
Q.5 Make sentences of the given words. [3]
A problem b. often C. complete
Q.6 Choose the correct homophones to fill in the blanks. [1]
a. Please make sure to the jacket outside. (where / wear)
b. | won the game three points. (by / buy)
Q.7 Write an essay on any one of the following topics: [6]

(a) My Beautiful Country  (b) My Favourite Sport



ARMY BURN HALL COLLEGE FOR BOYS
Entry Test Model Paper — Class Three

SUBJECT: MATHEMATICS

Time: 30 Minutes Maximum Marks: 20

ATTEMPT ALL QUESTIONS

Q.1 Encircle the correct option. [5]

i. Which shape has 3 sides and 3 vertices?
A. rectangle B. square C. triangle
. The lunar calendar is also known as:

A. Islamic calendar B. Solar calendar
C. Roman calendar

iil. A kilogram is used to measure the mass of:

A. light objects B. heavy objects C. small objects

iv. Two halves together make:
A. a whole B. two wholes C. 3 wholes

V. The amount of liquid in a container is called:
A. capacity B. mass C. weight

Q.2 Solve the following short questions.

I Solve the following division problems. [3]

a. Divide 8 balls in 2 teams equally.

b. Divide 12 rings in 4 girls equally.
C. Divide 10 pigeons in 5 groups equally.

. Draw line segments of the given lengths. [3]
a. 5cm b. 7cm C. 10 cm
Q.3 Complete the following by counting in steps of 7. [3]
I 7, : : 35
i. 21, , 35, , , 56
Q.4 Solve the given sums. [3]
i 545 i. 7 4 9
+3 2 4 -2 3 5
Q.5 Solve the given multiplications. [3]
i 6 4 i. 2 5
x0 3 x0 6




re S

Ry |
rresta. gl

oA 2 L))

"]

[r.0]

[F.0]

[¥]

q//j_ayzéwwra
,Q//’,gdlp'c;ud;aliuu -l/.";dlr‘

D - R - R e b S
P R Y S— Sige
- = - e A& e
$S = A B [ S P Ty N

S - A Y - /L/L(Ku‘ﬂfr 0
At L s A

Jhl Ny e -r =7 -
_J.‘.‘”JGZL»UJ“}G/: J"/f"dlr
¥ + s ¥ S

_u.‘.”ib’u”)w"éﬁwld}@/) ..f"/."’dlr‘
O -

e - [ERR ¢
_Jf’g el Tadsts b f )y

)] _r 515} -

_u:‘”g.:'lfl;? L L “Pol g Ry



